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l-;ltimate TlmesTables Challenge (2,5 and 10)

Ty e =

Help Spider-Man to reach the top of all three of the buildings
by completing all of the calculations in the fastest
possible time.

Name: Previous Score: Time TaKen:
finish

2x5= 4 x 2 = 4 x 5 =
10x 1 = 7 x5 = 3 x2-=
5x5= 2 x2= 0x10 =
1x5= 0x5= 10 x 5 =
2x10 = 5x 2= 9 x 2=
0x 2= 11 x 2 = 10 x 10 =
6 x 2= 3 x5= 7x 2=
11 x5 = 10 x 11 = 10 x 4 =
1x2-= 10 x 3 = 2x9=
5x1-= 9 x5 = 8 x5 =
8 x 2= 2x3=
10 x 5 = 10 x 2 =
6 x5 = 5x 8=
5x0-= 12 x 2 =
2x12 = 2x0-=
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l-;ltimate TlmesTables Challenge (2,5 and 10)

Ty e =

Help Spider-Man to reach the top of all three of the buildings
by completing all of the calculations in the fastest
possible time.

Name: Previous Score: Time TaKen:
finish

2x5= 0x2-= 8 x 2=
5x0-= 4L x 5 = 7x%x5=
7x2-= 2x11 = 3x10 =
5x12 = 5x9= 5x1-=
2x10 = 2x7-= 6 x2 =
10x 1 = 1x2-= 5x5=
1x5= 3 x5 = 11 x 10 =
5x2-= 10 x 2 = 11 x 5 =
410 = 6 x5 = 10 x 12 =
9 x5 = 12 x5 = 10 x 6 =
10 x 10 = 3 x2-=
6 x 10 = ] 10x3 =
5x7-= 2 x 8=
12 x 2 = 10 x 5 =
4 x 2 = 8 x5 =
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l-;ltimate TlmesTables Challenge (2,5 and 10)

Ty e =

Help Spider-Man to reach the top of all three of the buildings
by completing all of the calculations in the fastest
possible time.

Name: Previous Score: Time TaKen:
finish

8 x 2= 2x 2= 12 x 5 =
10 x 6 = 4 x5 = 3x2-=
0x5= 6 x2-= 1x5=
5x1-= 5x5= 7x5=
2x11 = 5x2-= 3 x10 =
5x9-= 8x5= 4 x 10 =
11 x 10 = 2x7-= 0x2-=
9 x2-= 2 x10 = 5x7-=
10 x 3 = 6 x5 = 9 x5 =
10x 2 = 12 x 2 = 10 x 10 =
10x 1= 4 x 2 =
2x8= 11 x5 =
10 x 5 = 10 x 12 =
5x 10 = 10 x 10 =
1x10-= 6 x 10 =
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timate TnmesTables Challenge (2, S and 10) Answers
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Help Spider-Man to reach the top of all three of the buildings by completing all of
the calculations in the fastest possible time.
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finish
2x5=|10 4x2=|8 4 x5 =120
10 x 1 =110 7 x5 =135 3x2=]¢
5x5=|25 2x2=4 0x10=0
1x5=|p 0x5=|0 10 x 5 = (50
2 x10 =20 5x2=(10 9 x2=|18
0x2=|0 11 x 2 =22 10 x 10 = {100
6 x2=[12 3x5=|15 7x2=|14
11 x5 = |55 10 x 11 =110 10 x 4 = |40
1x2=|2 10 x 3 =30 2x9=|18
5x1=|p 9 x5 =45 8 x5 =40
8 x2=|16 2x3=|¢p
10 x 5 = |50 10 x 2 =20
6 x5 =30 5x 8 =40
5x0=|0 12 x 2 = (24
2x12 =24 2x0=|0
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timate TnmesTables Challenge (2, S and 10) Answers
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Help Spider-Man to reach the top of all three of the buildings by completing all of
the calculations in the fastest possible time.

finish

2x5=(10 0x2=|0 8 x2=|16
5x0=|0 4 x5 =120 7%x5=35
7x2=\14 2 x11 =22 3 x10 =|30
5x12 =60 5x9 =45 5x1=|pg
2 x 10 = |20 2x7=|14 6 x2=12
10x 1 =10 1x2=|2 5x5 =125
1x5=|5 3x5=|15 11 x 10 = (110
5x2=|10 10 x 2 = (20 11 x 5 =|55
4 x 10 = (40 6 x5 =30 10 x 12 =120
9 x5 =45 12 x 5 = |60 10 x 6 = |60
10 x 10 = (100 3x2=|¢ 0x5

6 x 10 = |60 10 x 3 =|30 2 x 2

5x7 =135 2x8=|16 9 x 2=

12 x 2 = (24 10 x 5 = |50 5x 10 =
4x2=|8 8 x5 =40 1x 10
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> Fltimate TnmesTables Challenge (2, S and 10) Answers
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Help Spider-Man to reach the top of all three of the buildings by completing all of
the calculations in the fastest possible time.

finish

8x2=|16 2x2=|g4 12 x 5 = |60
10 x 6 = |60 4 x5 =20 3x2=6
0x5=|0 6 x2=12 1x5=|5
5x1=|g 5x5=|25 7x5=35
2x11 =22 5x2=|10 3 x10 =30
5x9 =45 8 x5 =40 4 x 10 = (40
11 x 10 = (110 2x7 =14 0x2=|0
9x2=(18 2 x10 =|20 5x7 =35
10 x 3 =30 6 x5 =30 9 x5 =45
10 x 2 = |20 12 x 2 = |24 10 x 10 = (100 -
10 x 1 =(10 4 x2=|8
2 x8=|16 11 x 5 = |55
10 x 5 = |50 | 10x 12 =120
5x 10 = |50 | 10 x 10 = 100
1x10 =10 6 x 10 = |60
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